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INSTRUCTIONSTO CANDIDATE

Writeyour name, the admission, index number and school namein the spaces provided above.

You arenot alowed to start the practical for thefirst 15 minutesof the2'/, hours. Thistimeis for youto
confirmthat you haveal therequirementsfor the practical.

Mathematical tablesand el ectronic ca culators may be used.

Neat work isencouraged.

EOREXAMINER'S USE ONLY
QUESTIONS MAXIMUM SCORE CANDIDATE SCORE

1 15
2 11
3 14

TOTAL 40




You areprovided with; 0<°

- Solution Cwhichis solution of dibasic acid (CQ@H) - XH,O containing 10.08g per litre of solution.
- Solution D whichis0.2M solution of sodli um&%/dromde

You arerequired to determinethevaue ofzé% intheformula(COOH),. XH,O

(H=1,C=12,0=16) O@QJQ
Procedure ?}
- Fill theburettetothe érﬁ( with solution C.
- Pipette 25. Ocm3of lution D into aclean conical flask
- Addtwo dropssbf phenol phthal einindicator and titratewith solution C.
- Repesat thgt%ratl onto obtain consistent resultsand record your resultsin table 1 bel ow.
TABI,b&QI _
I [l 11
gﬁﬁ’al burette reading (cm”)

Cf" Initial burette reading (cm®)
" [Volume of add used (cmd) (4marks)
a) Cd culatetheaveragevolume of solution C used. (Imark)
b) Calcul ate the number of molesof D used (2marks)
C) Calculatethe number of molesof C used given that thereacting ratio of acid tobaseis1:2  (2marks)
d) Cadl cul ate the concentration of acid solution Cinmolesper litre (2marks)
e Calculatetherelativeformulamass of theacid (COOH), X H, O (2marks)
f) Hence, determinethevaueof X in (COOH), X H,O (2marks)

You arerequired to determinethe enthal py of displacement of Cu2+( ) by Zinc.
Procedure

)

Wrap the plastic beaker that has been provided with atissue paper.



if) Place 50cm?® of 0.2M Copper (11) Sulphate sol gﬁ\on inthe beaker. Dip the thermometer in the solution
and notethe steady temperature of the sol ya on

if) Carefully transfer dl the 1.0g of Zinc é@vder provided into the plastic beaker and stir carefully with the
thermometer. ,b@

i) Record thehighest temperatur%%hat thesolution attain.

Record theresultsintheTablell tﬁjt')w Tablell.

\Volume of Copper (1) Sg@‘late solution used (cnr)

Highest temperature of the mixture (°C)

Initial temperature & Copper (11) Sulphate Solution (°C)

Change in tempgrature (°C)

QQ’ (2marks)
SQegfIC heat capacity = 4.2kJKg*k*

Q’f)ensty of thesolution = 1g/cm?®
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& Wiitetheioniceqution or theresction e tekesplaoe. Inicatetheertalpy changefor thereacion.

(2marks)

You have been provided with solid Q. Perform the tests bel ow and identify ions present in the sample.

)

Put dl thesolid Qin aboiling tube and then add 8cn® of distilled water alittleat atimewhileshaking.
Dividethesolutionformedinto five portionsin test tubes.

Observation Inference

(Amark) (Imark)




if) Tothefirst portion add dilute sodium hydroxi g@ropwiseuntil inexcess.
Observation = Inference
QN
@\Q
&
é”Q
A (1mark) (Imark)
T
if) To thesecond porti\(g@hé ammoniasol ution dropwiseuntil in excess.
Observation . Inference
&
%
&
R
Q (Lmark) (Imark)
6\.
i) Q/Q{% thethird portion add dilute Hydrochl oric acid and then warm.
{-@ Observation Inference
2
&
2
N
\\
< (Imark) (Imark)
QO
V) Tothefourth portion add 3 drops of Barium nitrate solution (NB keep the mixturefor part (vi)
Observation Inference
(Imark) (Imark)
Vi) Add 1cm?of nitric (V) acid (HNO,) to themixture obtained in (v) above.
Observation Inference
(Imark) (Imark)
Vii) Tothefifth portion add 3 drop Lead (11) nitrate
Observation Inference
(Imark) (Imark)




